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Zuvaptnolakeg eEaptioslg kat Kavovikonoinon

Acknon 1

Oswpeiote 0 akoAouvBo oxnua R = {A, B, C, D, E, F} kaL To cUvoAo ouvapTnoLAKWY
eCaptioewv F={ A>B, B>A, DE>F, B->DE }. Mo eival to kAeldi tou R? ArntocuvBéote
to R og oxéoelg BCNF.

Using the functional dependency set F, find the keys of R and then decompose R in
BCNF

Acknon 2

Elvat to oUvoho ouvaptnowakwv F={A>C, AC=>D, E->AD, E>H} e\dyloto; EGv Oxt
TotE dwoTte Eva EAAXLOTO GUVOAO yLla To F.

Is F a minimal set? If no then give one minimal set for F.



